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GS/1G/101
. Part A -
General Mental Ability, Aduiniamﬁva and
Payehological Abilities
If 808 x BOOB x 80008 = A and the sum of all
the digits in the A is M, what will be the value
of M ?
(1) 8
2 12
3

@

(Directions for questions 2 - 3)

There are two series given below, of which one is
complete and follows a certain pattern. Based on the
pattern of the complete series, find tl:wanswenng
term in the other series with mlasmg terms marked
by a]phabets

4

(4) 24194

®08e Iwdo M @cmé Jﬁ amge, .'

Q0 308 ?

)

i)

(2)
@
@

8

12
0
4

|(2-3 (B0 dmsSen) i
& (Bosss Bock rooa?s Eﬁemeo @5 SOFOD,
S8 288 Yowod HOK QY SHTRD
OR3005RB00. G‘Q 0wy (3eS HED A
SSre eosom, 5@ : |

S oS Hros R8s dogrs (3
2. Which number will come in plaee of D in the ;’3.:3-;)1 §§)ﬁ‘,506
following ? :
4 25 169 1009 5041 20161 2, {30&6"636‘[)@‘?5 Slé:fﬁ,}ﬁwxa@?
6 A B C D E =
4 25 169 1009 5041 20161
(1) 7827 6 A B C b &
@) &3 (1) 7827 -
3) 8401 (2) 8394
' (3) 8401
. — BT T
. folf.:".'; i m:nber R S ales dn Wl 3. 808 &8 E o0’ Sty Howg OB 2
4 75 2125 77-875 3549375 1957-65625 : ":;5 21535 7"‘375 354‘3375 1951?“’35
5 A'B c D E .
M 21842 () laed
@ 21145 @ 21145
@) 228256 (3) 22825
4) 24194
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4.

Amit has to travel distances of 66 km, 88 km |4.

and 110 km on three consecutive days. He
travels with the greatest pasmble constant
speed (in km/hr) on all the three days so that
he covers the respective distances in an
integer number of hours on each day. How
manyhnurswﬂlltmkehmtoeomple!;etha
journey ?-

(1) 8hours

(2) 12 hours

(3) 22hours
(4) 24 hours

~ plLgmeansp-gq
pMq means p X gq
pNgmeans p + g
which of the following equation is incorrect ?

(1) B5KSLAMENZ=-4

@ (BM7)M(7K5)L(EN3)N(3L2) = 670
(3) BK6L3M4NS =95 :

(40 30N10K4M2L2 =15

A pipe N’ can fill a tank in 1/4 hour and
another pipe ‘M’ can fill it in 1/6 hour. Both

~ pipes are opened to fill the empty tank, but
after 1/15 hour a leak developed in the tank.

‘The leak alone can empty the full tank in just
1/12 hour. If the both pipes were opened at|

99m,thenatwhatﬁmewillthet'ankbe
emptied ?

(1) 9:20pm

(2) 9:30 pm
(3) 9:25 pm
(4) 940pm

{8)

@S SBST W
Sr8ckw 110 8 &rd0 @Moa-a OB
S Bred OO0 Fopd PEDS

 Brod @Ko DTSN, FF08 Sows

fotes (B8~ Jowods oo
ods  DORoLrD. Dasrer) 38
BoHETDE S8 ) Kobe DHAHO
Heoehod ?

(1) 8o&exn

(2) 12 hodexn

3) 228o&en
(4) 24 Koden

pRKgeodp+g

plqeo®p-q

pMq ®@0® pxq

pNg@wo®p:q @onsd

& (808 IDEBETOS DO SH)?

(1) B5K3L4AMEN2=-4

(2) (SMTM(TK5L(6N3)N(3L2) = 670
(3) 5KBL3M4NS =95

(4) SON10K4M2L2 =15

N on B o8 erobs 14 Hoed
DOSHOED HOABw HTE Yy M, 16
Sotrs® Do, gre ersoscd DoHTS
Dok Dy BBIaFAw, GOS8 115

Bowey oSorgsd ergoSS’ af  Jodaw

D63806. $Sw0 & Boldo SrSd 112
ot 330 &r5oSd ar® FWod. ovd 9
Kobreds Bot DJen BOR, o HHOLOS'
e e7308 370 ©HB0b ?

(1) 9:20 pm

{2) 9:30pm
3) 9:25pm
(4 9:40pm
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- 7. Rajani has a digital watch that shows time in
a 24-hour format. The time on the watch
shows 23:45. After passing ‘A’ minutes the
watch shows the time in such a way that the |
four whole numbers are again arranged in
ascending order from left to right. Then what

will be the value of A x A ?

85
@
(3)

8464
6724

(4)

9604

8 If

which of the following pair of people
represents first cousins with regard ‘to the
relation given in the expressions, if it is

E * F means ‘E is the son of ©
E + F means ‘E is the father of I
E > F means ‘E is the daughter of F°
E < F means ‘E is the wife of I

provided that H is the sister of P ?
Q>R<P+8 and M*H<I+J<K+L
(1) QH

(2) MS

(3) ML

@) MK

9.  In a hostel room, five people P, Q, R, Sand T
read a novel. The one who reads the novel first
gives it to R. The one who reads the novel last
hastaken:tfrom? Tzsnuttheﬁrstcrthe
last to read the novel. There are two readers
between Q ami P. Identify those two readers

between Q ana& P in the same order.

(6 §)

RandS

I {(2) RandT I

(3)
4)

Tand 8
Sand T

7. OB S 08 ABLS S &od od
24 060 oSS SHAFY) LIHEA.
SES' ANI® DNOHO 28:45 ST, A’
AUTOD S So°3es 29 rentd Jd
QOPEEN « AR D0S HAS efirnd’
ONEIDAS Do S DAY
Srdeod. oond AxA &)oo;{) Q0
@30 ?
(1) 7569
(2) 8464
(3) 6724
(4) 9604 ]

8. E*F o E ®0® F G308 $srddy’
E+F &dr E ®@0® F 8308 ol
E>F eodmr E o F &g S0s808
E <F &dm ‘E ®0o® F B 218y eons
H QP 3ws FS0m H088R, & Bodk
Si888mes aSmds HOOGFE
QoD 1808  Seos  d5H
&rairehen (first cousins) e9e9eEd ? o
Q>R<P+S 8050 M*H<I+J<K+L

(1) %
2 MS ; W |

(3) ML
(40 MK

9. 28 3PS KOS, neihs Sien P, Q R, S
DO T 2.8 S50 SYEH. S50
s SIBIS S8 T SHTS R &
BV, SSOD DIST SADS 55§ D P
08 SX%0erE. T S50 SODS S
Sor D56 S58 520, Q HBAKH P 53685 BB

BRI ST, Q OO P 0S5 &Sy
AP FEHOSH o8 6D 15;&)0&'5'
8ot oh.

(1) RG0S

@ R80T )
(3) TS S
4) S8k T
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10.

@
r-(ﬁ} 1,1 and IV only

Consider the following statements :

<y
- |10, 81808 HEOSOD HOHESOSOM :

I An equilateral triangle in a circle will|

hm ﬁm maximum area compared to
msaﬂethesamemmle

1L Ifthehesghtofanequﬂatemlmanglem
10 em, its area will be equal tu
1W

If three sides of a triangle are 5, 12 and

13 cm, then the circumradius of the
¥ el

triangle is 2'5 cm.

III.

IV. Scalene triangle is a tnangle with none
~ of the sides equal to any other

Which among the above give’.n statements are
correct ?

1, II and 11 only

ll'

(3) I, III and IV only

{(4) All the above

The sum of all the three-digit natural

numbers, which on being divided by 5, leave a |
‘remainder equal to 4 is XXYZA. What is the

value of Y+ Z?

1n 9

2 2
3 14

4 18

11,

()

L 28 Sydo8 Sderdv |@hz0 of
' '{;Bzﬁm'oé' SOR
droe.noes

I .‘(‘;.;'na:r.‘.’:m faaiuzso a!méz, &) 10 em
mof

o8, oV IFTOL0
aoe»‘o&'..:'
Lazi)@o By Swrch Zharen 5, 12

208050 13 em ®ONS, (B2hso Ty
' éa@?aé.mwcgo 25 cm SOLVOS.

triangle) &
2eren J0 2SS e JdSrSorr
GOCH).

258 DN (HELSOS DV/AO HJOD ?
1, 11 SHB8050 I Sresad

@ L I1OH805 IV Sr&ed

I1, TIT SH805n IV Srebad

5D

3

4)

58 ROBAAIIW, 48 JIrSDS 3ho
AOT o) Hrth @08 HIFE SoPO
Bpedo XXYZA. 00 Y + Z Dead 20 ?

(1) - 9

2) 2

3 14

4) 18
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(Directions for questions 12 - 15)

Read the following instructions carefully and
answer the questions given below :

Naadna.ndMa!@andaeidadtoselltheirApp}es
Series watches each at ¥ 42,000 to Karthik and
Ganesh respectively. In each case the selling price of
?&mwuamedatbymemngthemstpm
by 25%. While Nandu gives a discount of 10% on the
first ¥ 1‘2,000 8%onthenext?160008nd5%on
there@ttothebayarl(arthxk,h&ohangwesa
discount of 8% on the first T 16,000, 7% on the next
?800&3:1&5%0ntherestmhlsbuyer(}anesh
These discounts were however subject to the
condition, that the buyers make ‘the payment on
time,faii_ingwhich the discount gets reduced by 1%
for every delay of a week.

12. If Nandu and Mohan got all the payments on

time, what is the approximate percentage of
profit of the person getting the higher profit ?

(1) 14%
(2)
(3
(4)

21%.

17%

9%

13. If Karthik defaults to make payment by 1 and

2 weeks in the second and third payments
respectively, what would be the profit of
Nandu on the sale of a watch ?

(1) ¥ 5,480
(2)
(3

T 5,645

¥ 5,660

(4) ¥ 5,740

- (8)

[a]
(12 - 15 (59 @80 dreSasev)

& 1508 rddod ST SO  (8od
RSB (DF)OK DTS 'a.ﬁ;o& :

SO HBAN ;S S5 Apple 6 D LD
2825483 T 42,000 TS 88 HOck KBFDO®H
AEWOTON  APowocH ). CPD 2%
ROWW0 P5O° T 42,000 &80 éd D YOB.
SO  JE T 12,000 10%, SHHO
T 16000 8% DO WADS IR 5%
SD0HD Tt 5855 RS IS S
Fhfecrd #B08 I0se T 16,000 8%,
S8 T 8,000 7% SHEAKH VD 5%
SR0HD T, oS & $RoHen ASSOH
S8 gotrow, Sdffenaden Hreod’ 3o
TODGBO APODS, 1N T80 sOFIE $ho
1% Siheod.

SO HOAW IS HHOTDE @)

- Doy FodIYE, aBeS &S
B0 o) S8 63»53, erds- S0
QDAL DO ?

(n
(2)
(8)

12,

14%
21%

17%

4 9%

s o4 oA Swrds FOopes'
SEOAM™ 1 HBAW 2 FT eD DO,
TS ©595065° S0cHE SIS €250 o6 ?

(1) ¥ 5480
(2)
3)
4)

T 5,645

Z 5,660
Z 5,740




GS/1G/101

14.

If Ganesh defaults in each payment by

2 weeks, what would be the profit of Mohan on |

the sale of a watch ?
(1) ¥ 5,400
(2) 86,200

3 ¥ 6,500

15.

16.

‘Nandu and nl_;an i

-

@ % 68&)

What would be the difference in the profits of
both the buyers default
::is-;::-_:i_ ?

A

2
3)
(4

Madhu purchased a bike in the year 2024 at
the cost of & 78,000. It depreciates in value,
10% the first year, 9-5% the next year, 9% the
thirdyesrandsoon,witha]lthepewbemages
applied on the original cost of the bike. What

will be its value in the year 20297

@ T 42,00
(8) ¥ 42,500 e
(@ Tamn ]
17. Neelima places an order for ‘P’ number of

sweets from Agarwal Sweet Shop that}

produces ‘q’ number of sweets every day. r‘{p--é{ :
the total number of sweets produced in a day

fail quality check and are discarded. What will |
be the number of days in which the order will
be compie/ﬁed ?
G IWt ~1)
@) 100qr
P
100p
< (100 — r)q
&) 100r

q{100 - p)

(9)

14. 580 8 3QoH BoHordt 2 oo e

2HODE Bond, TS eSS Jrirds

EVARTY 0 D0 ?
(1) ¥ 5400

R o 6,200

(3) T 6,500

@) ¥ 6,800

15. 98 3003 Db FHfferd agdd

28 T80 Brre Ttn WOPE S0

SBGE SEFSe erared B J0d ?
(o) <440 )

(2 T 464
(3) T 488
4) T 520

18, % 2024 0SS0 T 78,000 $OS 28

BES Soffen Treh. (HS Soss 80 HES

5 o0 dend SHSrdEod, Bwoe

 H03S)80 10%, HHIB Jos$ 50 9-5%,

TGS H0SS60 9%, BE T B §O

D ) TEd 30058, 20295
505683608 D e Jos ©HHod ?

(1) T 43,000
(2) T 42,000
(8) T 42,500

@ <42, '

17. HOH H&F=" ¢ X)os_ogeb! ?0}5!.)& eéb e
22 erioesS 5565 TH Hod P dopsd
& cSerch edb BYod. (HS T &5 S
HHoBS Duso DS % e
3D DpoD FVSchaveon. Bond

508 gy e ) g8 38
9908 ? :
P
@ 100q(1 - 1)
2 100qr
p
Fa) (100 - r)q
T00T
o q(100 — p)




- GS/1G/101

'18.  There are 5 members in the family by the
names Ravi, Madhu, Mahesh, Raghu and
Praveen. Praveen is taller than Raghu but not
as fat as Raghu. Mahesh is taller than Ravi
but shorter than Madhu. Ravi is fatter than
Raghu but not as fat as Madhu. Praveen is
t}nnwﬁhanMahesh,whomthmnerthan

Raghu. If they are arranged in an ascending

order, i.e., fattest to thinnest, who will camg m-'

the middle ?
(1) Praveen
(2) Raghu
(3) Mahesh
(4) Madhu

(Di&ctm-ﬁrwm 19-21)
On the eve of Bathukamma festival, the association
of Greenfield Apartments had organized games for

children. As a part of that, Keerthi, Joshna, Pallavi,

Rama and Swetha participated in a race. They got
different ranks from 1 to 5 in the race (1 being the
fastest and 5 being the slowest).

The following information is also known :

I.  Keerthi is not the person who finished the
-~ recefirst.

. Pallavi didot get the 5% rank but she

finished the race after Keerthi.

HI. 'Rama finished the race after Joshna.

IV. The sum of ranks of Keerthi and Swetha was _
equal to the sum of ranks of Pallavi and
Rama.

19. Among the five girls that participated in the

race, who was the last to finish the race ?
(1) Swetha :
(2) Pallavi

(8) Keerthi
(4) Rama

{10)

o

18. 28 Stwoaod 8D, e, WD, B,
DS ©F 5 208 Jsen AT, (HHS
B30 50T W Gamch S SHw o)
YT B, Sarn 8 o ST are)ch
SR DD S0 SGr G, 8D W
§0 PRI G TR S &*’m ey

B, (DB HR 0B IS ST
DO HFRA B0 LoB HSYT GBI .
s oo e MM gﬁ‘:rea
Lé:n@@‘ (€T G5, m :-

DD S ?

(1) (DS
(2) Saw
3 SO
4) o

(19 - 21 (S © §550 AireSfen)

wm,; :aoam :boc&sm L&S 2:@ (o)

sto Seles DBgrorD. BOE' o 8

&' 80, £%), H0, 65, 3§,gé War;é&. a'cb
BS’ 1 S0d 5 S5% I
o (1 B Sﬁéoé@
5 AT S0H). y

& (808 SSrmrdo e 80206 ¢
L 88 3o 8 Snhods S8 5.

JODE 55 o508 oB, SR QQ Sorges
B0 S0B0D0H.

&'ar) Somseb 55 Bed Sufodod.
86 280 358 orjoe Indo BeOD
200D B T°0HO BT, HSFS0.

BneS® BN DS aré)ﬁa)é‘ DRO8
B0 AAODS T S ?

L
Iv.

19.

I

(1) 53&

(2) J0D
3 48
@ B
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20.  If the sum of the ranks of § 0. Fgs  HOAKD ;)Q;:,gosm wdo 8
is8, then whogot the 4P rank? | eond, 45 07508 5% oS ?

(2) Rama [ @ o
@) Pallavi _ @ e
191, oshs odios, 50D 808 B

21. Among the ﬁve gii'ls, who eﬂﬁldmt have 2 ;
fnintiod Ui Il A after Pilll 7" - 10 D8 ;‘9 BR&GOGS ?
- (1 88

(1) Keerthi R ] -
B - @ 5D

@ Swetha --'i??%}'- ot \C.‘soa}'ds;os'c&
{4) Cannot be--dqtm_*xnimd s 22 .

z . o wotno& 03::%5, &oéégw g%éo 8
_"_;’.3;%;3,)@1 5??@03&'?
@ 5 .

@) ﬁx)oéé;»,m '
e,rc‘ézfﬁ e‘.&é M mém 2.8 Di argoBocd
Srrych. £ 88 Gy o Jabdo
250D0D0B. 1 &5r0), 2024 8D T 1 &0
508 HOH Sr8) 28 865 Hod (D8

S e SN T ¥ob T 1 @&a&')}'ﬁ'
s 3D0d. 1 SrB), 2024 STsS 6D
258 [wdo D POISDS DB

(perfect square) OB INAS 8463

dateaﬂ;eri“ Mmat ;
 her total savings will be a perfect

(1) 10" March, 2024 o
A 10 $3°8), 2024
- _ | @ 26470, 3024
(3) 17 March, 2024 | @ 17500y 202

4) 8% March, 2024 i (4) 83r8), 2024

() 26" March, 2024




asneinor ' TRy

--ws%mer bought 10% pens from n, then

Jaya was Ieft thh 270 pens in her shop. Kw i
many pens were there initially in her shop ?

M 600
@ 450
3 700

4) 500

a, a sh‘npkeepe? initially had ‘n’ pims A 24. m’é}mw@@w‘ 25@63@‘ ‘0’ '7;)83)3“&}3

SOTBD. 28 $908 n 0B 10% DADIOD
SOy Twch, Sogs O EH0B
WAOS DA o 20% THffen Tk, &
S0 38 HHTE EPHE WHOS DO’ 25%
Shoffen Tach. DSST, 20D &S 50’

270 ey Dferan. e Semos

s’ A D en eIy ow 2
(1) 600
@ 450
@) 700

 IL  Remaining questions will  carry

A pweimnary test was mnducted by a
remumg agency which canmsted of | 25.

L Onefifth of the questions carry

.red ny Madhun are X and Y respectively, |

4) 500

1 estions. Madhuri takes that test and

1/10 negative marking.

questions carry |

1!2 negative marking

Una%empw questions carry 0 markg {f:i

and minimum possible marks

s all the questions in it. ﬁ*‘or everyl . .
-wm;e&mmr 1 mark is awarded, while o

BHO® TRoS. BB S SSHTTRE
~ wrong answer is penalized as follows : i 0. ¢ "@ o

Ty B eV aé_gaxﬁsé;o&,v;m mmg_
© & 808 Do 28575 D _

100 S 08 &85 (@ P8 HO. OEreSof

Q@&)g} =50 ‘06523‘0(33}&0&5 a:-@a__ @

G ::aa)dae'.&) ol

L 288 Soéh 1H¥)o% V10 JRES
Srdpen Gotron.

IL 38 Soé @')r‘o‘;ﬁ)é} /5 36&85_
50 GoLrow. :

o OL . A0S (D08 112 SASS. ma-en

SOETOW. _
(RTINS @c&agom @é;méﬁa 0 Srdyen

1

(2)

4
6
3 2
4 8
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26.

Ina c!assroom,a'&eacher asked, “How many

2-digit numbers exist which have the property

that the product of factorials of its digits > the
sum of factorials of:tsdigi&@“'ﬂm«whatwﬁl

betheanswaofthestudenhpmﬁﬂ:m? ;

> &"S}Lﬂa

Suresh and Raghava
started a business with the initial
of T 15000, T 18000 and ¥ 20,000
respectively. After a year, Knshnaauds'umsh
mcremed their investments by T 5 000 and
2 000 respectively, while Raghava withdrew
T 5,000. After one more year, Krishna, Suresh
and Raghava increased their investments by

90%, 25% and 40% respectively. It was|

decided that Raghava would receive 20% of
the total profit received by them for his extra
work and the rest of the profit would be
distributed according to their investments.
After 3 years, the total profit received by them

was ¥ 53,400. If the extra profit received by
nagmmm excluded, then find the ratio of

Raghava
56:63: 53

a

2 '53;'83:56

(3) 59:6:;:56

{4) 69:63:56

(13)

26, 28 SEKB KOS’ 2..% W{;‘gcﬁm&) “S095®

séve g as) > o) ®ose T
sésore o, S0 ©L0 &)

2-080 HOPIED ) SIS Gy ow ©
OAPE” ©HIH ®FS &) drde
JBIrerdo dwed 2

(1) B56

(2) 63

217.

(3)
4)

64

72
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(8) 59:63:56
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r delivered a 20 litre soiﬁ%iion_;?;f milk
ter in the ratio 3 : 2 bo_ Qizaskar.

Select the correct answér using the codes
given below : . b .
) Touly
@ Honoly
(3) BothIandIl

. aamon 6ok M argodes’ &) meéo
. mgs»gm TH o 1-Grraw

-w;eéaes‘ &;&; '60- 200 a?ﬁea mmg

Q0 ?
n 4
@ 40

3) 60

v 95 3:2 dH)HE _
. 5805 5% ORS Brdy D6
6 80%S Sod 10 €

@ 80

S a0y B% 20

(4)  Neither I nor I

g o iwsm motore
L OLTE) 5805 DO SITTHen

®E, msm mﬁo'geraé‘i}m&m;)? A

B BSAS TS GHFAAOD a&& -
DTV dothFos:
1 I3mED .
@ HamesD T
@ IdoawIlBodr |




GS/1G/101

31.

4) 32

Inahmhenrack,mbmmwmm_

andthegreenbox’l‘heyellﬁwhox\;s between

the red and the black box. If the boxes are

numbered from 1 to 6 from top to bottom, then |
the difference between the position of the|
greenapdthamdbox;sl) Whatls_thevaiue

of D¥/27
1 4
(2 1356
@ 05

32. Pointing at a b@ in the pWaph Bhargav

smd,“'l'heboymmm}eﬁxsthemof
ﬂwwxfecfthaoniysonofthe : of
my younger brother.” What is the miatxon

between the boy in the photograph and|

Bhargav 7

D

Brothers

33.

(2)
3
@)

Both are first cousins
Father’s brother

Consider the following statements :

I. A Parallelogram having all the s.ldes :.

equal is 2 Rhombus.
II. All the Rhombuses are Parallelograms,
but the reverse is not true.
IIL.
: but all Squares are Rhombuses.

Which among the above ngen startements are|

 correct?

@

I and I only
11 and III only
1 and IIT only

(B

@

(4)  All the above

A Rhombus may or may not be a Square, |

{18 3

INleToViV] eéoé::‘s;} ’2::’%}0 o5y OB, DY
2% 2y BB Sendy Ve P
&08. DD D HOR Bob8 1 SHod
8 SO% B8 o0l8, eHDW) SHdAD
D) DY FN0 DG SE0 D. SN
D%/2 Denss Joe ?

a 4
@ 135
@ 08

)

32

2§ TOTIAS0S &) ©2rIoN DY
S B O, “WEDIY BrdeS)

TN SE SN WETITY

S oSy THE” PE'S ) eeryons

Reelony aréﬁ& 20888 HODOEGO LS ?

()

L

- FSBeD

0 DOXD >
@) 2OE> rairdoen

4) Sod

& (806 |HEOIOR HONBOBOA !

1. Q) 3 BETSOT GOT HIroesd

SEDE B0 T°0DR BeY08.
1. &) TOVRED Nr0edS
Sodyeren, TR ©) Nrosd
e T 0DV 5.
oD HMBINOT GOBSTD) Sor
GOGEDSH) SR ©d) ééﬁé{g’ﬁ“m
T OVREN. :

23 B0 (HEGLSOS’ D ,oam ?

I X805 1T Sresad
1 o805 I S
I 8050 HI Sr(esad

6)
@
@

Do)
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34. An electrical lineman has to climb on a pole of
height 50 meters to fix the wires. In the first
one minute he climbed up 5 meters, in the
next one minute he slipped down by 2 meters.

Further, he repeated the same process till he |-

~reached the top of the pole. Then at what
height was he at the 24™ minute and how
many times did he have to go upwards to
reach the top of the pole ?

(1) 41 meters, 12
(2) 39 meters, 11
36 meters, 16
42 meters, 18

35, Sandeep invested a certain amount in
Reliance Infra Private Limited which offers
~ compound interest (compounded annually) at
5% p.a. and an amount equal to 50% of that
amount was invested in Reliance Jio, which
offers compound interest {compounded
annually) at 10% p.a. The duration of
investment for both the companies was
2 years. If the difference between the amount
received from both the companies is T 6,965,
what is the difference between the sums
invested in the two companies ?

1 ¥ 7,000
{2) T 8400
3) ¥ 17900
4 T 6600

Kalpana’s project report consists of 40 pages,

eachof?ﬁlimeawiths{)cham@ersineach-\ .
line. The lines are reduced to 70, but thel|

number of characters is increased to 95 per
line. What is the approximate change in the

number of pages ?
1 -76%

2) -10%

3 -12%

4) -14%

(16)

| (3) 36 exs, 16

e Y

880 DAERE o8 oSS BS 535S
50 D&Y AW &Sy JoFoDE 5,0,
BEE W0 5 D S Mg,
Sorgd AHod 2 Ded s Lo
PO, s FS 8 TS 368 o8
ATV, ISTBgS0 Toch. o eesey
243 QA0S o IHS  Goerdo
DO FS D8 THFITDE w8

M.

AND D& IO ?
1) 41 e, 12
2 11

42 D, 18

35. J082 " Fod WD) BoAHS) RSP
(RIS ONVES DP2d DEFE, =8
5% pa. SIS0 IGD (HoSS 008 56
30D 5888 oBos HBoky e
S0’ 50%8 SSrSHAS IR Reliance
JioS s DR, 2B 0% pa.
SD¥S0 SG (VoSS ITVE 38 &%
IS o6V, Bodk  Zoderk
DEPAG S 2 HoSSyovew, @ Oodd
50O HoA FodS TwEns S¢S
SO0 T 6,965 OB, & Boch wbbé
28 3 5 3 o6 ?

| (1) T 7,000

3
4)

T 7,900
T 6,600

008 (2§ 0FHS’ 40 Dfen GO,
2.8% 08¢’ 80 w§ s’ 75 BD Garyow.

 253¢ HoBHen Hoss 708 SAcd, efoe
Sows 2,87 Ho8s 958 DoASY I, & oTv o)
Qg DA HopsS IS &)
DT IO ?

1 -75%
2 - 10%
@ -12%
@ -14%
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37. A B and C are hwé painting job.|37. 2.8 moﬁoﬁémﬁ’m&ﬁéé@oﬁm(’}m
N e A s ajobin|  JocoXorryd A S0 B SO 2D I
8 day? 'w!nle A md"a.;ffz &3;1 I e HQ DS, B SHBA5 C &8
Then how long will it take, if work]: 520 8 Bred Fobiem, A HOdw C
t,ggether to comp]et,e the JOb 9 “ m 16 SMCS‘ g&bﬁ&é@ @C?O&é;}m D
' G0 Bova ®odsr 0D B TR,
1 3}:23? days oS0 ::cé)é)o& ?
@ 1 3; _ dm __'(1} 3— Oeren
13
. @ 7L ren
» 3‘3” dm . -
e 3) 3L Emen
(4}. 'Z‘ig days __ ._:'_:_': - 12 S
@ Egwe
- G 13 ;

-ofwriﬁngthe word is possﬁ’i}e ?
(1) 1080

(2) 1440
@ 1384
4 1526

39.

If 19t June, 2024 will be a Weanasday, then
wﬂi it be on 19th Navember

40. Umesh
the Northawest direction. Hg’ .
anti-clockwise. After that turns W
anti-clockwise. He finally tur:w_ 90° elockwl%
Whmhdmchonmhefamgmw"

{1) North-west

Ca_sauthvet )
3) North-east
@) South-east .

|88. ENTRANCE' e

o3 508D ©3) esHen
dYyhr 8O o dSor  eFored

e @é)é,)a:@'cm 58 atusol Do

_ 40 SR 28

_w&)g o):% Sroren %‘é;m&ﬁ)@m ?

@
@

1384
1526

39, 12 28, 2024 A0 BOVS, 19 BB,
© 2024 0SS’ O T ©0heod ?
(1) 20760
@ . Sdéo

) SDoNT 00

2rosS &x“ci’még 63 dowd
@aes‘

ﬁr Yoy @@3@ @éa‘& 135° ﬁdéég

m;&%&’ BpEd. wEH aB® D
B3’ &) ?
(1)  Sr0iwSg
@)
{3}

&g

@ e
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41, If 892 x 415 x 769 x ? = 1565-67631, what 41. 892 x 415 x 7-69 x ? = 156567631 ONS,
: win'mmthe-placeof'?? ?Q‘éoes‘m.}_é)@éaoé?.
1 618 (1 618 .
2) 49 (2) 496
@ 484 (3) 484
4) b5 (4) 55 ;

42. Pawan appeared for examination in 5 subjects.
The maximum marks are the same for each
subject. His marks in these 5 subjects are in
thepmpertiané 5:6:7:8 and overall he

~ scored 60%. Inhowmanysuhjectsdﬁdhamre
 less than 50% of the maximum marks ?

DS 5 SPPoS’ HOE K HrasaT. HS
QPP 163 Ardvyen 2.8 DGor eoeron.
&5 HPPHOS’ 8 Sryen 4:5:6:7: 8
RNYBS’ Gy on SHBA Jwdor e

\:60%!5'3,5 Te. @D D) W'

500 m;,ms‘ 50% 5o S50 &6

T TP ?
(' 1
2 2 :
@2 2
(4) 4 40 4

43. It takes Madhu 2t minutes to complete |
Form-A which has k questions and 3t minutes
to complete Form-B which has k/2 questions.
If Madhu answers all the questions, how much
more time does he take on an average to]
answer a Form-B question than he takes to

k BHe0 ad) FEH-AD 50 Bohads
S5 2t DDiren Hs0d HOA K2

. DD &S) FSDH-B 8 TahardE st

VXN HHH0O. DB ©J) (H¥ %
QAPEFINN, ©SDH JFEHA (HHS

| BEPETN0 BSIT08 BHKE S ot

TOD-BROAI SIS0 @SIEDE

answer a Form-A question ? S o 8oy S500%50
(1) 2tk BDH0ErE 7
@ Bt/k D 2tk
2 8t/k
3 4t/ k 3 4t/ k
4) t/k

“4) t/k
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44, A profes

classroom deﬁnes.that the
snbstammﬁsehmepmadinwhid!thedmg
substance becomes just half of it If it is

known that the half-life of a drug Adrenaline |

is 800 years, then after 3200 years, mmﬁ

Adrenaline becomes X. Which of the following |

is a possible value for the sum of all digits in
X? '

@

12

@ 285

3) 225

Chandra i amﬁwedtwmt%detmngthe
numbers 600 to 799 (both included), he
typed 8 wver he was supposed to type 6.
; ’Iheathetoi{iﬁnnmberafmﬁeahehadtypeds

is:

(3 150

(2) 230

8 320

(4) 300

Find the incorrect term in the given series :
193 140 97 62 35 16 5
1) 62 =
2) 99

@ 140

4) 193

2.8 ore3ss 3‘&3& @"‘;}&8 &8 TH
SrSeS TaG dodo TwE eTANY
©ot & HTo TS Jo SrGBD B
330D S5 ©D DG IDOT. S BIOS
TAGo By m 800 HOSS T ED
®oNS, 8200 JoSS o ST g 1200
e oBSOS X [rdnen ©IR00.
808 &8 X & ©d) w@ose IS

MS&"’%S Denss I8 ?

o 12

-

@

@ 285

925

S0l HodSHgoS @Sy a8 WHY. 600
SoB 799 I5% &) Jopiod WD
TS Bodr SHFTI), ©SH
6 BS Tard)d S 8 &d D Trd.
) 89S 8 HoPs O WY TS Swedo
QOYPS

)

180

@)
(@)

(2) 230
820
300
& 1800 BIES BAS SHor &S

= €08 HBowod :

19314@97%3518 5

(1 62
2 97

(8) 140

4) 193
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4?  Ganesh donated 50% of his saving of

(20

47, BB S S T 1,26,5888" 50% e9dreg

¥ 1,26,588 to Ayodhya Trust and he invested O ™ B 500 DADS

- ~ the rest of the amount at 10% ‘compound ‘ %m%&lw#geééag;%s lﬂ%{ @‘égééé
- interest per annum, separately for his children| A ét;‘p . % o &

_ Knshn& Veda in such a way that when ;) DA S DY 5'3‘9 : R0
receive the same amount. The age of Krishna édaaré &Y‘é) a@cb & 2.3 m?&l
is 13 years and that of Veda is 11 years. Then ©ONOErD.  Fy» T SO
the amount invested for Veda must be : 13 dodSyoren HOAM B SAHd)

(D) % 28,204 11 Sodesyoren. @_-_ ‘,)m 3¢5 - &0
(2) T 28,640 S )SD0™ DEP2E DS Fneso :
(3) ¢ 26840 (1) ¥ 28,204
(4) € 28460 (2) ¥ 28,640
. (3) T 26,840
48. Find the Mean of the following data (correct to
two decimal places) : i :
Vamhies Frequency 48. & (800 &F0F NG§ER) EOFS0S
15-25 4 (Do &53°04F PO HI0050B) :
25— 35 -1 ';%omanesg DyeSs0
4555 14 25-35 i
55— 65 0 35-45 19
o R 2 45 - 55 14
(1) 38926 55 - 65 0
_(2) 4026 85-175 2
(8) 4156 (1) 39’26
4) 4265 .
49. Find the number of triangles in the following - 42& S
figure : 9. & $od D$oS (APe JoPid
SRRSO
(1) 36 .

- 1 36

=N 2 32
L RO
4) 52 (4) 52
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50. Each of seven boys named A, B, C, D, E, F and
Ghasméxﬁmmaéiﬁmt%@&aweek,

ofthememek()niytwopmmshnvethmr
exam between C and A. B has his exam
mm&aﬁe&ybefarel“ OnlyGhashlsexam
after A. Which of the following options
repmsents&eecrmtmatﬁlofaboyandthe
day of his exam ?

(1) A :Thursday

(20 G :Friday

(8) C:Tuesday

(4) B :Monday

51. Consider the following Assertion (A) and

Assertion (A) : -

A person with AB*Y® blood gmnp is called as
‘Universal Recipient’.

Reason (R) :

:ﬁpemnmth AB*"¢ blood group has A & B
antigens and Antibodies in Plasma.

Code:

(1)
correct explanation of (A).

(2)
correct explanat:on of (A)

(8) (A)is true, but (R) is false.

(4) Both (A) and (R) are false.

{21)

(A) and (R) are correct and (R) is the|

(AJand(R)arecorrect,but(R)isnotthe

50. A B, CD,E, Fé&é@‘i»(}e'ﬁ DHE &Sy
DHS uaﬁ'amg @9 26,08 3808°D
3Bs Tors H68 @otnod, edIGO
Sod (Eos o8 a‘éoé‘z) 3dar60
| S0HN0s. € 0o A m s $de0
2G5 SiHos SrED >0 588 sok. B

. SE@ S0 E & H08 Sk, C S

S00& F % 588 0. A $0°5$ G ¥

SriSd H68 soenod. & 8od JoDEeS

98 ezryon g IBS 2SH HOAD

@& HOE T JrdYos ?

1 A:h&Hs00

@ G:HE0

@) C:Soigado

40 B: IS AYSE)

51. 808 $yd5dem (A) HOCH SE0 (R) ©D
H88Botod  Hdakd IBS FHD
Johfod :

GpdE8E2 (A) :

AB*e 28 D &) $580 rdssyS
BHATHOS wotrd.

50&0(R) :

AB* 25 (D &) S588 TS A & B

oSroESen  Hdaim  airoslarden

€8 :

(1) (A HB® R) JPSD Sodakn (A)
E0%} 3B D38 (R).

2 (A) HOA (R) MPID, SV (A) Ty
BB D36 (R) 5°ED.

3)

(A) dz0, BONS ®) éa’ag
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‘52, Choose the correct suitable figure among the

fnur alternatives A, B, C and D given below
thatwouiﬂ complete the given figure matrix.

(4) None of the above figures can wmplet.e
the matrix

Vande Bharat Express travelling at 63 kmph 53.

can cross a platform of Visakhapatnam
railway station which is 1995 m long in
21 seconds. How much time would Vande
Bharat Express take to completely cross (from
the moment they meet) Duronto Express
157 m long and travelling at 54 kmph in the
opposite direction to it ?

(1) 8 seconds

(2) 10 seconds

(8) 12 seconds
{4} 16 seconds

{22)

82. & ONS HNS B T

PerSryoirey A, B, ¢ H8akw D &
S 238 TD ABS ISrErS )

* Qo od.
7
A B C S
1 B
@2 D
@ C

@) D AEe D Sreyis 0 oy

63 8.0./50 Jros Wardod So8 arss
QIR 1995 DS Ay @S
ATPI0 BBz PAS  FEFESHS
21 VRS’ oofied. 157 Hed FES
B0 S0TES I8 DR § S5BTE AFS®
fotdy 54 8v/o Fos (DTS
D08 BN FET LTI (%
$ORVS 00 0d) S0TrEd EYDD
D0 JDADLO DO ?

(1) 875D

(2) 10 DER

@) 12 R

(4) 16 DED
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IITs in 2024

§88%

150 ¢
Iw- o

-8

 [appeared _
The n%m%er of students who pamd the

examination from IIT Kanpur and IIT Pune is
what percentage of the average number of

students who  appeared  for the
examination from IIT Madras, IIT Tirupati
and IIT Bombay respectively ?

- {1) 60% and 856%

' 2) 64%3% )
an

(4) 62% and 90%

55. Read the below given statements followed by
conclusions. Choose the conclusion which
logically follows from the given statements :
Statements :

: Al professors are doctors.
Al doctors are engineers.
~ Some professors are lawyers.
Conclusions : :
M1. Some doctors are lawyers.

{4) Only conclusions II and III follow

(23)

54. Study the following bar chart and answer the
question that is given below. The chart shows
the number of students that appeared for and
passed B.Tech. examination from different

sy

[A]

B4 & 808 b iR eysado IV, Bod

255088 (@HB  JAreo D508,
20248° DS NTe 0B B.Tech. HOEH
S8 SHoch @9RBS  doidhe

Hopsd T Srysod.
Moé‘ D DD 1T 504 B.Tech. Hog
SaBS HoaH #AHBS dorshe Sows
350 4+
300+ 300
2501 . =
150 4+ :
100 ¢ |
50+
T or  OT OoT 0T
eS8 DT FB 08 EA e
[ S8 B G3PBITE

[T 556 SOk IT 538 ol H85 S
&8YBS dorghe Sopg HT NN,
1T %5 80k IT 270z Hod H0E 5

DuBS dorPe  Difew SopssS Do
TS0 7 (56O (0 &):
1) 60% OO 85%

i'.,‘ _]

@) 62% SoB05 90%

155, & (1808 2O)S |WN¥LIOD  HOAW

Soymros SOS08. B80S HELIO
$H08 @O0 ©HH00T BTITOD
doosod
&S

OG0 Er Scogen.

BgO0SEr 20T

- FoRS IO eradD.

Soyorev:

L [ H80%8r 2028,

II. 202FoSE> erchd.
1. $0d& Scoien eraHD.

80 N Y30 O

@) eoare 00
@ HHBJ0N

@) Soparen 1 HB05 M Sr(ed
@HOOT oW
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&&'::’&mme that you are the polling officer of &
' Wﬂmg station for the general elections 2024
and the polling booth is in an area where
.' l‘!&mst prevalence is"hi@. Dm:ing the day of
p@ihng a group of Maoists come and try to
.dlmpt proceedings by terrorizing the voters

and firing guns. What will you do ?

Immediately stop the polling and inform
~ your higher authorities about the

(24)

incident.

Ask the police to resist the Mapists by
getting additional force.

@)

Inform the police force stationed there
and ask them to ensure safety o
important documents and Em

4

57. If a circle touching all the n sides of a polygon
of perimeter 2p has radius r, then the area of
the polygon is :

(1)
(2)

@)

p+n

Ask your subordinates and voters to
revolt against the Maoists.

2r
{(p-n)r

(2p - n)r

@ e

56,

D& FEBE I Ee» 2024 & 2.8 FOOK
VASH HOOF ©OF6 ©d HBAW
Sy @Doop ST 6
osos’ @ HOF ard  Godd

PRoB0B. FOoR T SrSfonde
2YOR0 D), LeBD  FobgrosiersHd

HOTYr  hrHod  sevyen 269
SESoTrOs ©0STaho $&RoTocosn
(DOHB 0Ty, ©3 )¢50 D A TS ?

1) SobT FOof & edID, DOHENS
- MDD asEoThoOH 8O
Fadso. b
2 FODOD OOSH  oros
 DErEED R .
SrSonPeD (HBe305:5 EBO.

57,

056 &S) SOD voresHd SO
Tobdso SHBa .;mxm SEen
60 EVMe HES$: F0tsind
m.

@ SrSonpeos Si8Bsor Sheren
TADHD D 180S Frow OOsHON
DO L8280 eadsiscso.

r Q0 de .8 Sydo 2p zﬁoe;)?oé ﬁe) '
DIVZHE Gy ©) I n D =S,

BYID & 2IHVPHE Ty FTeo Jos

©3H06 : '

p+n
2r

2) (p-n)x
3 Ep-nir

€5)

(4) pr
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58. In a recreation club, Sam, Gautham, Nagesh,

Deepak and Anup were playing cards. Sam

says to Gautham, “If you give me three cards, |
yaumﬂhaveasmmyasAnuphnsaad:fl '-

give you three cards, mwﬁlhmasmmyas
Deepak has” Sam and Gauthani together

~ have 10 cards more than what Deepak ami
Anup together have. If Gautham has two
ca:dsmorethanwhatNa@shhasandthe
total number of cards be 133, how many cards
does Gautham have ?

(1) 385
(2) 45
@ 20
@ 25

The questi onﬁow »w consists of a figure A. You
have to find out the alternative figure from P,
Q, R and S which contains figure A as its

2] [

R

(1)
(2)
3
4)

njxjo U

In a certain code language, Bihar is coded as
Uttar Pradesh, Uttar Pradesh is coded as
Punjab, Punjab is coded as Assam, Assam is
coded as Goa, Goa is coded as Bangalore and
Bangalore is coded as Sikkim. Then in which
state was an AIIMS inaugurated recently by
zheanemmatgrgflndm?
(1) Goa
I {2} Mm o R ] y

(3)  Ponjeh: —

(28)
58. 2% O50HAS I5S° D, TS, SR, HIS

&

S8 BND Hre ey, T
eSS w ©0Er, “DYs TH S
eBen TR, D 56 oirD & dsrsom
H8050 I % Srcd Fhen B, d @
B8 & v3rSor sHen GoLron.” W
=-0-$‘&b T @Q@ dﬁé S'Qw §OH8 @
B8 S0k 8D a0 SIS &) shen
So® 10 S GIoW. SAD &S
GOV o TSD &8 Bodh sBen
0y &o® Héa Indo sPo Jows
138 m»@ S &48 ) sfew
&Py o0 ? '
) 3
“(2) 46
3) 20
@ 25

59. 800 HHS S0 A, & OIS &S
HEsSrioh P, Q R S0 S dEed’
oS 2rromr @od G EORS0E :

4

A S
o P
{"® Rr ]
@ S

60: 25 D83 €8 uS, DD aSsHBE,
GSSDTT D HozBT, HOZB D G YO,
e 0& Farrr, Aoy Boferddm HOAD
BohErdd v or §6 Iy, wonsd
2768 DR atso U‘Lq}oeﬁ‘ DO I
(AIIMS) (80D & ?
a1 A

(2) mao

3 Sozd

@ &6
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Part B (i)

: Seiem"am! Technology
_{}‘ms;der the fql}omng statements about Seed
ults :

- Svalbard Global Seed Vault is a facility
~_on a remote Norwegian Spitsbergen

~ Island, and it is the world’s
- secure seed storage vault.

- India’s S&e‘d Vault is located in a

high-altitude mountain pass on the|

Chang La in Ladakh.
Indian Seed Vault is a joint venture of
National Bureau of Plant Genetic

Resources and the Defence Institute of
High Altitude Research.

Which among the above statements is/are

incorrect ?

I and II only

(2) IandIllonly
(3) - Honly .

(4)  None of the above

< za B

(3)

Identify the new sites in India added to the
list of Ramsar sites on the eve of World
Wetland Day 2024 :

Karaivetti Bird Sanctuary
. Thol Lake Wildlife Sanctuary
Pichvaram Mangrove .
 Magadi Kere Conservation Reserve
Bhindawas Wildlife Sanctuary
Select the correct answer using the codes
given below :
S i and III only
(2 IIand IV only
Iand IV only

(4) IandV only

largest |

(26)

61.

@
2)

B G)
) ©o8 BB
AES gy (D& ) HOOD & 180D
(D8I DBHEFOSOS
L 5500 Bad 56 a‘ﬁ DorahHo
o380 3'55330&5 DYE)BRS

5,53065‘ AONED Dobhdo =6Rcd
DB 2B |HDH0WOS'S ©d G
B SDS D& BT oy
I réssio Mg dE a‘é @Cééé‘ Q
ol & IBS D858 Srgod’, $&
=elnl
08008 HE of oF6 TaSS
a8 eh JodS 2ISE 6TYD
Voo W Tt 1 aﬁ@&geﬁ e
w-edard 8“?05,3 Socgor
&Ozowm)
28 AD)S Laéméoe‘s‘ DEIDD S ?
1 50805 I SreH
I HBan 0T Sme&sd
11 S

1.

3y

(

@) DID S

©HoS DSA Too OSIIS0 2024
QoABYor T8 e D TS
FBosa8s ESBI0SD  (Fowed
HBo%0s :

1. $B38 HHe esairseso

L 8S 360) SSgrene eBaroaso
HIL S350 & e0ddyen
IV. SN 30 90538 825 ¢

V. Domrard S8 e9zcsrdego
O%S 395088 Fhoh a:a@moa OB
JSTPTRR), 0HES :

I 805w I S5(ebedH

I SHOGKD IV S b

1)
{2)

{4)
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Consider the following statements about
‘Women Engineered SATelhte’ {WE&AT}

1. WESAT is the first Indian satellite to be
fully designed and developed by women
students of Lal Bahadur Shastri
Insﬁt%fe of Technology for Women,

1. WESAT was launched aboard the
PSLVﬁCSS}XPoSAT Mission as one
of the secondary payloads on
1® January, 2024.

1L WESATmmeanttostudthmnfaﬂ
refills underground water in rural areas
of India.

Which among the above statements are
correct ? ‘ :

(1) 1and Il only -'

(2) 1II and I1I only

(3 1andIH only
(4) All the above
Which among the following is the world’s first

emissions to achieve the emission reduction
target by 2050 ?

(1) New Zealand

{(2) Mexico
(3) Brazil

(4) Argentina

- (27)

L 2rSeBEosSR

‘ 1) 1000 I e :

63. ‘GHS 202G TEBE (WESAT) HB0D &

(808 |H¥LSOD HOfBosod:

L &b arard TR asSherS eb
wwas ::.5 m %@%‘a Serer

:saw @@.;SQQ TH2ES mées
680D EHHES0 WESAT.

I 1 2356, 20248 2osb DSBS

&8 PSLV-C58/XPoSAT 1SS
WESAT (STrhosB08.

e oed
SGardo  FrHS) sTON S
DoHHOE  ®ioNso  TavEE
3¢S (WESAT) 6530520808.

2 (DEOSOIS’ DD DV ?

@ I 005 I Sr&d
@ 1805 I Sred

@ DI

64, & (808 TBS 2050 TEE &S ShoD
country to propose a tax for agricultural|

O FHOTOLHE SESVCD GFTTOR
H0) DEOTO DEFB0DS
DDoS0S"D Jnocses B0 I8 ?

D oo
@ 8
@3 B35

4) eBodar
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- L It is the first India-specific Artificial

i (AI) model which accurately
determines the age of a fetus in
msnantmmthamndandﬁnrd

II.  Garbhini-GA2 was developed by the
\ reaeamhars at the Indian Institute of
Techmlogy Madras and Translational
Health Science and Technology Institute
(THSTI), Faridabad.

Which among the above statements “is/are
correct ?

(1) TIonly

(2) MHonly

(3) BothIandII

(4) None of the abave_

66. Identify India’s first indigenously ‘developed

- CAR-T cell therapy for which Central Drugs

Standard Control Organization (CDSCO)

- granted market approval :

L

(1) NexCAR19

(2) TECARTUS
(3) IND YESCARTA

(4) BREYANZI-BH

(28)

@&

|68, Garbhini-GA2 %800 (808 L:agesm

20tieSosod :

L @8 Dods S0y  Sous
(Bdsod® foyd hed® Dodo
WOy SADID Do
dgowod It  rd80H-20
58 D) AD BrssS.

I Garbhini-GA2 d R080HS 3SYewrss
69 e od, HIEW HOC 1€S)
BAIS S DS) 008 Vs e S
dewrgdS (THSTD, SberarsS'D
DOF asm eoé)éaé 3’8‘&’3)

R (DE0SOS’ DADD HBSD ?
6D NS T
@ IS

(3) I8a% II Bodsr

4) 3D s

S0l THg WSrwe dobose QoY
(CDSCO), &r8e5 s8Irdo  PodS

| r8Tio g IwdTwse Fdobor

©DIYE TAWDAES CART S BEDD
080%0A :

(1) NexCAR19

(2) TECARTUS
(3) IND YESCARTA

(4) BREYANZI-BH



GS/1G/101

Comder the following Sh:tamtg

‘which is a

‘7. ”
amsﬁdlydemonsmmdmwoﬂm
PSLV-C58 mission :

;3 ItmdﬂvelopedbyBeﬂhhixM:
Private Limited under the Technology!
Devel@mena:FundschemeofDRDO.

. Green propulsion system is an
innovativ'_e_ technology
mn- ,. ’aﬁ o 2 i d}y |

[l Green propulsion system is ideal for
space missions with high thrust

Which among the above statements are

correct ? '

(1) IandHonly

2 11 and I1I only

(3 1andIII only

{4) All the above

Indian Renewable

(®@

Agency Ltd (IREDA) has signed a
Memorandum of Understanding (MOU) for
innovation and research in the renewable
energyeeetormth

(1

(4) TIT Bombay

1. &  DRDO

~ ISRO S3w¥), PSLV-C58 15 wosdiod
Duchsosornr Lﬁéﬁ}om ésﬂ& S
IS 2% HB0D & B0 (HELIOD

5015680306 :

Siog), B
BsoSDoS  ob  BPso  8od
BerSEy B (IS dawd
0SB BHod.

I 88 (ORS 2P &30 o8 drd)
oERES, S80S §¥ 5 DO (Low orbit
space) & DTG oS er8E
280N JOESER-0NEre (DS
g%,

- \AS Lﬁ'&’)fgns VP OO B

oiHoes ©osdy  ar@oRn
I,

D BE0SOS’ ID HBID ?

Q) 1260 I Sresd

@ 11 SH8asw I Sresd

@ 150005 I S

4) ‘;&_);351

Energy Development |

- RoB0HS BrsSS 3§ BILDIDoS

9283 OB (IREDA) YSB&)BE ROGS

 Sokos eddmen HOAH HBFGIO

$50 & 808 88 BIE oS
2.5)0850 (MOU) @ dossso Saoh:

1) 208 TR
@) 008 HS35eS

@) D08 oo

@) 90820038
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L India retained the 40™ position in

Gkobal Innuvam Index among the top

innovative economies globally as per

~ Global Innovation Index (GIT) 2028.

IL.. As per WIPO Report 2022, India is

- ranked at 7™ position in terms of

Re&dent Patent Filing activity in the

world.

IIl. India improved its ranking to 6oth
position in 2023 from 79 position in
2019 as per Network Readmeas Index
(NRI) 2023 Report.

IV. India secured 42°% position out of the
55 countries in the Global Intellectual
Property Index 2024 as per the 12th
edition of International Intellectual
Property Index.

Which among the above statements are

incorrect ?

(1) LOandIV

(2) ILIIandIV

(8) IIand IV only

(4) None of the above

- Kalapakkam was developed by :

India’s indigenous Prototype Fast Breeder
Reactor (PFBR) of 500 MWe capacity at

(1) Bhabha Atomic Research Centre

(2) Central Institute of Mining and Fuel
- Research (CIMFR)

(3) Indira Gandhi Centre for Atomic

Bharatiya Nabhikiya Vidyut Nigﬂ

Research (IGCAR)
(4)
Limited (BHAVINI)

{30)
Aﬁse following statements : 89.

& 1808 (D830 HBSos0s :

L 28 ash)38S 20838 @I 2023
Bedo fad aSHIas zomss
EANOL Tt 1o) S5 405 Pl
RENIFOB,

I WIPO Q38% 2022 @s-cs s DSOS
BRBoS Do OO TEEerre
Jorr eSS0 75 FsodS sod.

. 3556, 383D 20B8) (NRI) 2023
D68 (5560 2rESEI0 2019 T7¢3 795
P00 Dod 20238° 605 s 38
&S T50808% DAHIHHE0A.

IV. 2008356  R0BBLHISS o
ROTBE) 128 ABAS (D560 B
F0VBHYSS (9§ 2088 20248° 55
Sros résdio 425 FIR)
20B0B. '

2 ieses’ DD S ?

M) LI SHE IV

2 I, I 005 IV
3) 115005 IV Srieh

4) I

§0)8,0 5@ 500 MWe &850 o> arSesss
D582 (FERD > Db 604r$6 (PFER)
DI TS HOP DA ?

(1 2rer etrD§ 88 1065 (BARC)

@ oS 35S e AR wobd
Frs0DS 838 (CIMFR)

3) =000 mod oLE HE eér§
88 (IGCAR)
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71

Amemg the followm@. identify the lea.d
institutions which are in collaboration with
LIGO Laboratory as a part of LIGO-India
project :

E Institute for Plasma mm'eh (IPR)'

Gandhmagar

H: Kepler’s Obgervatory & Research

Gentm, Harym

Inter—Umvarsxty Centre for Astronomy
Astrophysi -" (IUGAA}, Pune

1L

1V,
Technology (RRCAT), Indore

V. Indian Institute of Space Science and|

Technology, Th;ruvmntha;mmm

‘Select the correct answm‘ usmg the codes
given below :

o

1, 1l and TH

2 I IlandV

(3) I IlandIV

72.

@ 1L and 1V o
[dentify the spacecraft deployed by the NASA
to study the physical changes in ‘God of Chaos’
asteroid which will be nearmg the Earth’s
orbit by 2029 : '

(1) OSIRIS-APEX

73.

(4

(2) New Shepard
(3) Voskhod
Pioneer 13

Who mmngthefoﬂomngmtheﬁrstlndmn
woman to get a Ph.D. in a science discipline ?

(1) Kamala Sohonie

(2) Anandibai Joshee
() Janaki Ammal
(4) Maharani Chakravorty

Raja Rmamm Centet for Advanced|

(31)

71.

(4)

&
& (806 B, LIGO-India (&rEFS' arfor

LIGO ergSBe0 § STE00) (D0
J0PO& HBOA

1 ad)ors 30 Wz 5&6,:. (IPR),

: rod b :
. 396 @2965&3& ©ob 65) nyoeaﬁ
Sogee
Ml 20&B-0srdsyes Wowb 6

TS w08 o FONE) (UCAA),
8

o ond) Roeb 2O e AN )
__%as';e;a‘f (RRCAT), 2086

V. m0B0HS asderd e DIV VS

@08 502, BEIS0$H0
BbHS assbS FHo GHTrHoD SBS
JIFTR), JocoFol :

1 H;’»bcﬁw I

1L, ITI
2020 638 2T 8§55 TS ad) ™h
&9 SOl [(rE8e0S D zj"&é S8 Yo
550000 T NASA 38y N (5P
80508 :

(1) OSIRIS-APEX

73.

) New Shepard
(3) Voskhod
(4) Pioneer 13

& 808 8 S) Dgrtiod PhD. FOOS
B PEAAD DE DS ?

(1) EXver FarR

@
@
(4)

eaé_o&aron 0
Sosrored HESS



GS/1 GPfO‘i‘ '

74, The  smart,
- polymer-based nanoparticles from renewable

biodegradable,

resources for treating colorectal cancer were
~ developed by researchers of :

5. Consider the following statements regarding
‘Sun Halo : 75.

(1)  Indian Institute of Technology, Mandi

(2) Indian Institute of Technology, Bombay
(8) Indian Institute of Technology, Madras

(4) Indian Inatimte_ of Science Education
' - and Research (IISER), Tirupati

L Sun Halo is an optical phenomenon that
occurs due to sunlight refracting in
millions of hexagonal ice crystals
suspended in the atmosphere.

II.  Sun Halo takes the form of a ring with a

radius of approximately 22 degrees
around the Sun.

III. Sun Halo is specifically produced by
cumulonimbus clouds, which are thin,
detached hair-like clouds.

Which among the above statements is/are
correct ?

(1) TandIlonly

(2) Ionly

(3) Iand Il only

(4) Il and I only

(32)

-natural |ng  &S"BYS 5-5.535 DSy Fdo msdé

Se  od B, a)&ré@?éané :

B Welo) M&Sw@é mS‘M&égxn ]

(3) ROAAMDS zmm;gs &8
- DS o
@ ROBADS zz&)g,&wg& eq: ;g‘Sg
JBFBAS ®od 8O
SHDH

28 ' $02080D & 1806 BSOS

H680e308 : .

L 385 038 scestwcs’ 8dard
WOKHS AL Do JHyBsres
ardgsos  SfSSSso sdmor
H05D0T 2.8 BVES Byh $H0wo0.

I 38 TS e by srdd 22
Ao Rgod B0F  Srard)

. 8%0&n08.

L 38 &S H@gsor $1850SDo2D
Ddre oo @S TaHdeosd,
A A, I TohadS Soensen
erodd Ddre.

2 BN (DEOIOS' DEDD HBSD 2

(1) 180k IT Sredsdh

@) 1SS

(3) 1H0ak I Sriesd
(4) 100 UI Sriegssdh
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%#6. Consider the following ¢ w ts
Coral reefs are oﬁ‘mwﬁeﬁs&s .

77'

Statement 1 :

 ‘Rainforests of the Sea’.
Statement I : Coral reefsbreakthepcweruf"
the waves during storms and
kummms thus preventing |

33)

Statement 1 and Statement II are

correct, but Statement II is not thef

correct explanation for Statement I

(3)

(4)

Statamant lis eorm bat Statement I

Statement I is

Sbammﬂl is correct

Consider f.he &ﬂowmg Staﬁemenm e
30 by 30 initiative :

IilL

30bysoisaglobalmmwsea-
governments for ensuring that at least
:w%oft.heewgquwremmtashmﬂﬂ
hemetbymewahlemr&@byze%w
ch:eveNetZerotargét

30 by 30 initiative waslmmchsedbym

Ambition Coalition- (HAC) for Nature|

and People.

India is the first among the BRICS
countries to Jwa the High Ambition
Coalition (HAC). '

Which among the above smments are
correct 7

(1)

1 and II only

(2

I and 111 only

3
4)

Iandfl-lunly

~ buti

LWJI petefa )

|76, &8oB BEOIOD: HBKBoSOS
: {_Wf

HHSY &a&goéo S$Er BS
B oS AT RS © DT

[RTAR DY) ArDO
HSoHos eoe Y HOAW
- STHOH D80 Tarow,
Sy io 88 TS Jardpod.

W 255088 FHoD GITrAD IBS
mma; dohFod -

(}k}

(D80S 1 oo |HSed 1T DDID
SO @5&:& I & (H%0S I OB

Db

@
(@)

L

(1)

o, T

DE0S T HOAM (DHEOS T HBSD
3805 D80S 1 8§ D80S 1T RDBS
£ 5D :

@%'&-&Bé& R (DEOS 1T 3y
@&&3& 1 $) 5 DSOS I OBOE

77. 30 B 30 &ié&) Sonohod & (806
@smm 5080508 :

30 B 30 ©I0 I8 AT o853

OosE S 2030 o838 E&550 30% 48
BIHTOH B RE S

oo Soed  ATBoEIEIS
HZ0E 5o §0 2.8 1HDOD TOS.

30 B 80855 B A0S FaHOAS
(HAC) B Jsb ®ob 598 oo

@SoDoa0s.
2r ©0DAS FobOIS (KAC)@‘ 36

05 BrS arosBio SneSe.
2 1BEOSOS DO $TIG?

1 58050 1T S

(2)

All the above

{4)

T 00 I S ee

RN
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78. Identify the Biosphere Reserves in India, |7, G0IJFy (UNESCO) T3y &8 oo

wiuch -are not a part of Man and Biosphere

L " "m::t dzonga Bloaphere Reserve
. _Blbmﬂmkhawa Biosphere Reserve
V.  Great Rann of Kutch Biosphere Reserve |

~ Select the correct answer using the codes
_ given below :

1) LTandIV
(2) ILIIandIV
@ ILIVandV
(4) I,IVandV

79. Which of the following state’s online civic tax |79

payment software suffered a eybe;ﬁ»attaek
recently ?

(1) Madhya Pradesh
@ Odisha

(8 Uttar Pradesh
- ) Tamit Nadu

80. Whichofthefollowingpmgrammebythe
Department of Science and Technology (DST)
is to encourage and support senior women
amenmts to  conduct research in
inte areas of science and

2QrDYOLE (MAB) s855808° arfio 0
ST I0S°D 2R )YOHE mﬁm-
HBoS0A ? e

L SES2d@rR)ant 6265

. §Q Ja0 23rR)aHE B35 s
. oRSASom 2TFRYOHE B85
V. Grr-piis a0ird)ons 628

V. iSoS 8D 55 SRS 82368

QDS S 5BS Fhe GOAA0D IBS
X)m-m&); ool :

(1) L8351V
(2) I, I S8c%» IV
3 LIVSoawmV

SO o =N

=TSSR ;50& QD TR0S BSBS e

D) BoH PIE pb- o‘é&%hp_oa ?

(1) DS 15T

@ aéw R
3) &S (085
@  S¥Rrh

80. AIPDoS ¢D DS) ©o& By R (DST)

50" & (08 T8 D TEIEDO HAHE
Dy P RSB, DS) 08 By ess

 DoB0BONS  RoLBARDSE Sored

;’366‘:;5.6 DOH@ENE HBAH 8D
(&S orodSards f&r&o&ozﬁa}éo& ?

(1) INSPIRE SHE
(2) GATI
(83) SERB-POWER

(4) WIDUSHI
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81.

Consider the foilowmg st
AR'I"SENS devwe

& It is a novel, mn»mw device to

assess the health and ageaﬁhenenmm '

andtfm. pmwdaearlymeningﬁm

II. ARTSENS device was developed by the

Natlonal Institute of Mental Health aml

Neuro-Sciences (NIMHANS).

III. ARTSENS device is powered by a
proprietary non-imaging probe and an

. intelligent computing pia&orm

IT and I

{2)
(8 landlIll

(4) Ilonly

82. A multimodal Al tool that can respond in 11}
Indian languages developed indigenously by|
Mahalakshmi Healthcare (SML) is :

{1) Krutrim
{2) Bhashini
(3) OpenHathi
(4) Hanooman

ARTSENS 9880 00D & 808
DEOSOS HBHSoS0S | =
L 20 Sroe efio Hocn &8
SO0 @O SCHTWRE HOKW
Sorsor Bold A 3599 Tsheo

005  1200R  wodod@ls
AHTOT 28 30, TEATLRS
»O850.

I ARTSENS 30509 Fass
S 65 Bowd 8 ©os
SriF-BI0  (NIMHANS) @Dd59%

L 8880 (Db

&5 NValow
mo‘&)é)aoes Sodyese30f  FEJGeN
o so° egrdso Tovadod.
D DELSOS DO Sah)?
(1) I58c» I
D T Secs M
(3) 158050 I
(@) NIMS$D

|82 o8 22¢3 (BharatGPT) $5359 000k Qe

Hoel; I (SML) orgor BIwhor
oDI0 Tovad 11 FE80H raes
98D j0805%e HPYBraS Al TOTR)
H8ooh ?

Krutrim
Gpen’i‘latbl
[ (4) Hanooman

(1
(2)
@
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83.  NIII Aayog's Methanol Economy’ programme g3, §3 wdirf o308, God  dsedy
' isaimedat: |

L Reducing India’s oil import bill.

I.  Reducing Greenhouse Gas (GHG)
emission. .
- HI. Converting coal reserves and municipal

solid waste into methanol.

Select. the correct answer using the codes
- given below :

(1
@
)
)

I and II only
I and III only
I and I11 only

I, II and HI

84. Which among the following acts as a nodal
agency for sourcing of the Aarogya Maitri
Cubes developed indigenously under Project
BHISHM ?

(1) HLL Lifecare Limited

(2) Indian Drugs and Pharmaceuticals

Limited

Emergent Medi-Tech India Pvt Limited
Biosurge Healtheare India Pvt Limited

3)
4)

85.- Which of the following statement is correct

regarding ‘Tmpatiens Karuppusamyi’, seen in

the news recently ?

(1) A new aquatic flora discovered by the
National Institute of Oceanography
(NIO) in Thamirabarani river of Tamil
Nadu.

A new species of Hoof fungus grown on
plant
Botanical Survey of India (BSID in
Sathyamangalam Tiger Reserve.

A new species of Bamboo-dwelling bat
discovered by Zoological Survey of India
(Z8I) in Madumalai Tiger Reserve.

A new species of plant discovered
researchers of Botanical Survey of Indi
(BSI) in Kalakad Mundanthurai Ti
Reserve.

(2

3)

. {4)

species discovered by the|

5°551800 BEL o5 5o H30%0A :
L o883 S OMHHS Densd
oo,
BT s
Sfocscso.
AP Jogen HOH SIS HS
S§TOD AT S S8 50.
O I $DAS FhOD AHTrA0D TS
DSTPTER), DORECS :
() IS0c I S
(@ D0 MSMS$DH
(8) 19808 Il Smes)
| (4) I, 11 808 I =
84. 2% BHISHM 800 3o eDIHE
DS @b DD EriSodd SHErSS0
800 & 1800 o8S & Sad BHyr

DATNOE 2
(1) HLL 8538 d®r8
(2) ROQCADS |BH) ®0s Josre3sS)

OWBE
HJoS DA-BE BosAr | IS
OB
AR I olalr |1DIS
DWBE
85. ‘YOWDAT) Py adse ¢S
3000008, & 1808 88 o
JOHOBODS HB (DS B 2
1) SRS’ FNo6SS  BS
JASS  adPersS e LaSUD
(NIO) 3c0f) 58 20 S oo,
Debso0igo I B82S SerdsS
dBs e zolasr BSH orsov
EOAVDGS S8 erehoD  DOAS
WU D00 BB, Teh 2,
DDNS IS 82558 2rermyS
SBs @D 2080 @SD  orsov
ENMI2BS S 278 I damd
H5E3e0.
088 J00d0HhHBor TS 28y
HerAES Vs 6D =0AAL° (BSD
JBTBen EDFS) T 28 Bk,

IL (GHG) &@ored

I11.

3)

4)

(2)

(3)
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86. Consider the

L Global Shield against thate Risks|
;mananvewnsggmzdzedatM? andit|

is a

: Immncewimi)

Which among the m stat
incorreet ?

11 only
Bothland II

(1
@
3

(4) None of the above

s?‘

1y
(@

o

Which ameng the fo&iomngmlndiahaveheen
named ﬁs “Hope Spots’ by t&&s International

Union for Conservation of Namm (IUCN) and
Mission Blue ? -

Lakshadweep Islands and Raghopur
D:yara‘,{siand

At el Niohar 1ils
Keibul Lamjao Island

g o5

_.'50.16&6 2 V) U5, D 6D
23S @D ooy =SS Tro
 dirs6os coPTS @soDosadod.

. 3&‘&% 46 dade (DeraR) SH0,
-.2333063 INViela MWV ASSTO
 Srdod  HHOom 35 ook
. B8 IR ®ob
: WQ&S;WBRH) P00 KERROHS
©D3)0 Dok Bro 53_@@
£0)008. -

so508" DOID S
FESTRY

11 57

15608 11 Bodkr

@
(2)
- ®

4

(4)

208856 HIAGHS 6 SFBHS &P
36 (QUCN) SO0 IS A T
ESBISD & 806 ~8S 2D VD
a‘%‘gﬁ;’r‘r’ HESOFOW ?

o)) '-eas_é_g:b S%en HOSD 0*@}3'45'5
Basroe &350

@oBSrS b SJen SO
o0& xS Hdo

sodSrS b &:gm SH8os
Sosrg S350

@

i

3)

oEh5 Syen DO ©OBITS
B Byen
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.: Conrvt of Parties to the Convention on the
~ Con mgn of Mgmtory Species of Wild
\mmwy_s i

er the following statemen%mgardmg

s m 14% gegsion of CMS CGPIA was

 Which among the above statements are|

held frozzx'm‘*’ to 17th Febmary 2024 at

.:f;».’l’he CMS COP14 was convened under

bnodwers:ty gathering since the adoption

""" ~ of the Global Bmﬁwemty Framework|

(GBF)-2022.

correct ?
(1) Iandll

{2) Iandlll

(3) HandII

(4) All the above

Consider the following statements regardmg
GSAT-N2:

L It is the first demand driven satellite
uusmonthatlsfuﬂyftmdedandowned
hy Nw Space India Idmrted (NSIL).

IL. Q&AT—N2 satellite will be hﬂ;ed by usmg
SpaceX’s Falcon-9 rocket and is
scheduled in the 2°4 quarter of 2025.

IIl. The collaboration of NSIL with SpaceX
- was made due to the current limitation
of India’s rockets, which are lacking in
the capacity to lift large communication
_ _satelhtss

'Wlnch among the ahave given statements are

correct 7
(1) landIl
(2) Hand Il

(3) land I

(4) LIlandIll

- (38)

~ the slogan “Migratory species co minect |+
the pianet and we welcome them home”,

-“-"--m CMS COP14 was the first global|

88. 558508 @D @m NI 6D 36

©JS) (CMS COP14) B e HarI3rns
QOVOROD & (808  (HE¥LSOD
20Hdosod :

A,
I GSAT-N2 &J(5r0 SpaceX @)
PyS-9 088 FroPo & JoAs'E

Q0T B 03ain %3% 235
(Bard5ods’ ad acir,gé %&mw
- HL r6s840S 8 ESumdEA

BIIFOD BWIY . uvgso ax:;

o838 BSowd NSIL & ©&rio
RIS S0

- ®00  SpaceX &g
BDH0EVOS.
2 30N (DHIOSOS" DD HBSDT
(1) I8 H
(2) I 805 I

3) 1080w I
; il

" I CMS COPi4 é‘:.‘ngg, 143 DHS 2-324
D20 12 D08 17 S6% &BZEFS

&' HBE0ES 28A06.

. CMS COP14 “DHSE 2o §35 0
IS 006 d ForS Bo IS e
QTS0 DSrIIDod.

L CMS COP14, faxd a@3r@s0,¢8 (HS

38 (GBF)-202280 &S00S Sooges
B0AS  Bwsed L:;:m:s BB
NaarSdo.
2 (DSOS’ DD BBID ?
(1) 138k -
T o005 M1 g
me. 111
4) S
89. GSAT-N28 020800 & (808 [HEESS

MloTsf ot Tote I S .

L 38 &5 D 230808 Ows
(NSIL)S 3308 530 dehen SHoc%»
A2 SEopen $ORS
S0PISE BSroh s GH RS






sider the following statements r

~ ‘Operation Aspides’ which was recently seen in

the news :

1 irg is a defensive mrzf;me
£ i Cesie | ke

fmedom of navigation in the &eﬁ &a

and the Gulf,

i
Organization and was la
19" February, 2024.

- Which among the above statements :afare_ﬂ

conm‘?

(1) Tonly

@ Ionly

@ Behjendn

(4) None of the abnve

»

( W 1&TSD

i ERSRED.
§80& 2308 6P basS, 3&56 :»em
ao&ﬂla&w m@‘%ﬁ

! {91, 808 oS %@Qe‘ém wsoﬁ TEYIT

DOKEBoDS gsoaoéoé‘a} WweSBio 8?7

ﬁéo‘oﬁg
BN

&R0
VLT 08

e

iy

3
4

wHBAS  eRBYy  adse o6
$0DoN0d, A Jo0HOD & el
T8 @ﬁé BRI ::orseﬁoaeé

L 8 dawicso Sk 5@53@5‘ %

e3B82S Ms @ﬁ&e 20055
00 @oeBASE  SroBS
.&&o&» '&'&

SoonE  edBAS

) @é&é@é‘ IO/ HBID ?

@ Hane$d
3 15805 I Bodr
23D s

(4)




{I.  The DOSTI drill was starﬁédm i991 asj

abﬂateralexermsebytheeeastguards
of India and Sri Lanka.

III. Indian Coast Guard Ship | \_ .

ICGS Abhinav pamcapmd m the

Exercise DﬁS’I‘i 16.

correct ? .

(1) landIl

3 Tand I @ LMan

8)  National :tmam of Cancer

collaboration ; ntr
Development of Advmd Comy
(CDAC). e

Boos awy o5 b S msoas

o L;}ejo@oéaoéo&

L m& 85 6EE TE 528 SO

S DOSTI-16 a*gdir;&:o &

(2) 1005w 11T
| 4) I, II 00605 I

Bty womrich S80S
e 18080 EN0  Errododdd
0 (AD) DESarEad iOncology.ai”

= &;s’,gﬁ‘ Wi)oéz&éo&
) 068 5 efdAoHS 200OBS)

oo S588) (CAIR) 38
soesod ad 208 aBPETS

e HAE  pIN O
| @80DosnBos.

08 D6 Rvengerd ©ok
rO&O8 wored (CCMB) Sw¥y

Sos @56 D. SErd 5386
a&mﬁ & 50 80D oDB08.

: em&:é 2oBdBS; &6

wsgsw'geﬁ (AIRD) 30 e:):s-s-csos _
- adPersS eh 5330
Eoh Onhy oo

fe<la) B&oﬁ&oé &8
" ée@;eﬂoﬁ (CB&C) 53)0§3,

..Q‘SQ‘: |




gender equahty amang gu:is and boys.

~ International Cricket Council, UNICEF
sml Board of Canm% for Cricket in

None of the above

e . %’}

 Which among the following cmm%ry’sf’nme
- Minister became the first Pacific leader to

. Papua New Guinea

adMsAﬁstraims Parliament ?

. CRIIO 4 GOOD was launched by|

:'Conmder the following staﬁemem;s regarding

PACE satellite -

I It is NASA's satellite mission to study|
~ ocean health, mrqu&k&y&ﬁ«ieﬂ'ectsof? :

- _ejgmate change.
i 'P&Qﬁ satellite

et on 8t Febmary 2024.

Wimh-- among the above statements is/are
incorrect ?

(1)

b
Ionly
Boﬂzlm&

was | successfully .
launched aboard a SpaceX Falcon-9{

| BEBROR SOBoS0B:
S TR cnmou}oonaﬁészgges &s

@éa@émﬁg e &5§§ @%
S 8800 Srdrsded $O%od.
CRIIIO 4 GOOD m&q'ém 8385
TS, UNICEF 8

1L

P soDosnd0s.
D P¥osos’ DA/ 6@,}‘?
A1) 180501 '
@2 I 3MeDH

{8 I180%s I

{96, & RORDS IEB0SS HHOACDS Tc5es
SVDE TS D BrRE TodS gmé
208 ?
1 DODISH
@ &g Syen
@ 8
1 @ zlwar g A0S

97. PACE  &JHIONE cooa)e@oﬁ
- SSodod HoMdosod :
- \’i. .

Soa

BGoHS0  TAHEIE &m
T (NASA) B3E) & ams

PACE adfiro 8 D@58, 2024
SpaceX  FeyS9  OBS (o

1I.

Jdadhdosor (HAWrAosndod.

AR @'a§&&5e>e5‘ oafba d.gu ?
I Sri&$ah

(1)

@ I&S}'&fﬁn II Body

-Nomafthaab@ve
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98. Consider the following statements :

I.  The 1% edition of the Indian Naval

Cimilanders Coflweics of 20340

commenced on Ms:rch 5th 2024,

II. The Government of India launched
ADITI scheme to promote innovations in

11, Exercnse Samu&zts Laksamam isa joint
1 Navy

(.1) land 11
2 MandIl

(8) Iandlll

(4 I, 1andIl

_'__:Indzas first mdxgenous Hydrogen fmel eell

| off by the Prime Minister of

(2)

(3) Hooghly Dock & Port Engineers Limited |

@) Cochin Shipyard Limited

aoécﬁoﬁ AT §$’)J'Ot55,3 5988
2024 15 DAAS Sr8) 5, 2024

50508
1L ﬁ;}@é SO gt E B8
@‘é,a:roisa-as r8es Db o

ADITI 565) [rsodHodod.

L S efe  Tioio  aros
FeEEo HOckH TS HBRO
Jeigo HXs voomns IO

S $OS0.
2 BEOS0S DD DTSV ?

(1) 156ck I

(2) I8 I

| L @ 1,11 50805 I

9. o8 BEHT DOoDoIHAS ESTH0
g SoeBnce H582 EaS Friohd
S DB DG D80S ?

M oS 2D OIS
@) HFTS @S 1D DB OWBE
@) ol o8 @ob G wozdb) Os
@ TOYS ADArE DS




GS/1G/101

'E)

101.

Statement II :

The researchers from various |
tions haveiﬂenhﬁeda
v species of burrowing frog
in the urban landscape of
Karnataka and named it as
‘Sphaerotheca Varshaabhu'.

Sphaerotheca Varshaabhu get
its name from its behaviour of |
changing colours from brown
to pale brown in the beginning
of monsoon season.

Statement I :

Select the correct answer using the codes
given below : '

Statement I and Statement II are|
correct and Statement II iz the correct
explanation for Statement I.

(D

(2) Statement I and Statement I are
correct, but Statement II is mot the

correct explanation for Statement I.

: wro -
Statement I is correct, but Statement IT
is incorrect.

Statement I‘is incorrect, but Statement
II is correct.

(€3

The initiative Mission Investigation@75 days, |

144
1100, & 808 |DELSON HOBESosod @

g : g 101.
which mandates investigation officer to

complete investigation of cases within 75 days |

WS DoPe  HOFTSen
SFOsSD  She (1958
(‘.’J,)f‘a‘;oéf&{whan landscape) 2.8
¢ 28 )N HiorH
SO0 8 RYFFs ST

STswo  (rdogod  Hvs
S0 SHod Bes ??c}&&&a BoH8
8 (2S58S sﬁmm* 8
ESR{ef0i ég‘ﬁ? w‘é‘ g lo))
SVNOB.

(93OS :

(D8G5 1 :

BK% 235288 Fhod GOS0
JDSrGR) J0HTFOH

DEOS T SO0 DSOS 1T HBSD
SO (HES T § 1HEOLS T HTS
2566.

(D8 T SO (HES T HBID, 50
D8OS T § B80S I 8BS IS6w

(D

(2).

B) (D80S THDSA, D (HESS T $3).

@) (D80S 1 8H), 0 (HEOS T HBSS.

DHned STred TS 75 T Tweo
BT 0SS F0 TOFred 58S AS

of FIR registration is launched by which State | A3 NA0S@75 Foren, U‘{étﬁm £0
Government ? : or 5o [@rSododadod ? .
(1) Gujarat (1 Hzos

(2) Odisha 2 8%

@) Bihar 3 D6

(4) Uttar Pradesh &S8 (HTF

(€2
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102. Who among the following have been se
to be the astronauts on huhasﬁrst
mission to space ?

Wing Commander Shubnnslm S}miﬂa

Group Captain Pankaj M. Sinha
Group Captain Ajit Krishnan
Group Captain Angad Pralap
Seleds the correct answer uamg fhe m&é&
given below :

(1) LILIIandV
(2 LHOLIVandV
(8) LI, MandIV
4 LILIVandV

<.?Egﬁ

1%‘
mtheworl&bohunnh the Malaria vaccine for
children into
immunization services ?

(1) Botswana

(2) Cape Verde

(3) Cameroon

(4) Democratic Republic of the congo

104.

Sah-Yojana (PM-MKSSY) :

4 It is a Central Sector Sub-scheme under.

the Pradhan Mantri Matsya Sampada
for formalization of the fisheries sector

and supporting fisheries micro and|

small enterprises.
It will be mpiemented with an

investment of over ¥ 6,000 crores over aj

period of next 4 years fx
to FY 2026 — 27 in all States
Territories.
1t aims to provide o
beneficiaries for pur
insurance.

IIL

Whmhofthaammmwmmm“ .

(2) Hand Il
4 1,I1and I

IandII
1 and 111

(1
3)

Group Captain P. Balakrishnan Nair :

thhamngthefollnwmgmtheﬁrstmuntry

its  routine natmmﬂ .

Consider the following statements about|
Pradhan Mantri Matsya Kisan Samridhi|

'

m ESBE0 BoE), SO IS D ©OSBE
ol it ®088%08% IFocno 1808
78S % ShSomBwent JoBEATE ?

L Dol §5r0%6 Harod HF
L eReRSD. oSy JoHd
L D s RS Ho8E Q0. dF
V. D s eosd L
LD SRS ool 19ED
- AHS 55088 Fhod GHIriod dBS
5 --wwm 0eHFoA :
- LE MV
"'-::réﬁ}* L 1, IV 8o V
11 III&'I)SOI')DIV

ﬁéw 35535@ 35 B8 ooe
$H BErRBRIS HISE HIFDGS

m @crﬁ éoo@ .;‘néé;;g 8IS DY@
$T-Tras (PM-MKSSY) HB80d & (§00
: L:3§eac6wc§a H8KBosod
L ab ey sofio 8588556 SHOAW
L Seys ArEy 00 DI HOFDOR
P BSZEVE (DG OB €833
S0H8 (80d Toed S0 & HHSO.
o) olaren SH0dd  Sold e
rosred’ 2023-24 @88 JodS60
208 2026-27 Q5 H0SSI00 HOS
5T 4 Sossyore Fos T 6,000 T
2EP0AE 2d BHen TAHVDSOS.

| L erge)s D% SHffenr Sabads

- oDodef IO (e
- @0B0H%0 A ©f 0.

2 20 HELSOS DD $DD?
1) 1500 I @) 11 8ck I

(3) 16a%w I

4 1,100 )




ey due to offshore oil spill ?

Northern Mariana Islands

Trinidad and Tobago

106. “Who

among the following eminent
personalities are recipients of 58% Jnanpith
Award ?

I.  Sampooran Singh Kalra

II. Jagadguru Rambhadracharyaji

III. Damodar Mauzo

Select the correct answer using the codes
given below :

(1) IandIonly

107.

(2) II and I only
3) IHonly
(4)?;}-'1;1.and I only

Conazder the following statements regarding
International Big Cat Alliance (IBCA) :

1. The International Big Cat Alliance is a
multi-country, multi-agency coalition of
96 big cat range countries, non-range
countries interested in big cat
conservation, conservation partners and
scientific organizations working the field
of big cat conservation.

The Union Cabinet approved the
establishment of International Big Cat
Alliance headquarters in India with a
- one-time budgetary support of T 150
crores for a period of 2 years from
2023 — 24 to 2024 - 2025.

Which among the above statements is/are

H.

- correct ?

(1) Ionly

2
@
@

ﬁ only
BothIand IT
None of the above

(46)

[a]

105. &HIFE eonS ) semor asse D Bio
200 5559 HOPB L:'ﬁéSoao& ?
DL

g of
ﬁéé 5)6053’:‘\‘5‘ Bagex

(1)
(2)
(3)

wa@ Lﬁbéw .).:Sdn ?
L D03ds o8 soor
CIL 268 TR
. o3rsd 578°

OHS aSs0AS TR GITrAod HPS

DT Jocvsod

(1) T80k 11 Sried

(2) I HO050 MI S

(3 3D

(4) T80 HI Sriedsdh .
107. 2008 355 DB 55¢5 @eahS) (13(1&33

QOVOROD & (§08  [HE&SeDd
201Boob :

L 2008385 OF 558 ©00HS)
o0 2IvE-BTew, aTVE-HoPO
Sréodd, RS’ 96 DY . Deven
EADOT Trewn, 78 Hobim D 68
&d) S-00 Tren, D085
PHsSNeD A DY Deve
HosE e Sokos HATRS) T RoH
DOPED GOLTOW.

2023 - 24 H0& 2024 - 2025 S6% 2
VoSS oo Terdf T 150 o
Errahe DD 2535
SEroOERE O ZrESTEos
ROOVYIASS DA 558 ©oHS)
DS SOROATR)  FHOSERE
3018 73O 3ES s3rHoD0A.

2 BN (HEES0S’ DA/DD OB ?
T ) Tams
o T 1

(3) I8 II Bodsr
@ I

II.
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108. Identify the incorrect pair regarding persons | 108. «

and their field of activity who were conferred

with the Sangeet Natak Akademi Awards|

2023 :
(
(2)

&
4)

LV Gangadhara Sastry — Music
Jagdish Gangani - Dance
Helen Girt -

109. India’s first spy satellite that is set to be
launched in a SpaceX rocket was built by :

a7

&l
-3 T8 Jofis TOE esdd

oTden 2023 FoBS Sien HBAW 6
éawmﬁ& X)oa:o@oa Jé,;n' &) 20O

oD «mﬁéo
109. D) X c°‘§e5 cs',so' LWKE DESTES)

(2) Skyroot Aerospace Private Limited aéda A0 ? -
(3 Dhruva Space Private Limited ) BEES) 28035 (236 OBE
@ Tata Advanced Systoms Timited {2}_ 203508 F DR (RIS OB

111, R;ecenﬁy the State of Tamil Naﬂu banned the -
111,

sale of cotton candy due to the presence of
which cancer-causing agent in it ?

(1) Aristolochic acids
(2) Benzidine

(3 1,3-Butadiene
(4) Rhodamine-B

)

W&ich of the following countries recently

became
International Solar Alliance (ISA) ?

(1) Liberia
(2) Romania
(3) Israel
(4) Malta

112.

the 119" country to join the

3 3 DIN | DI8 ODBS
(4)  erer om0 )0 P DB

110. 60 DN J0AS $HHED, O Tz,
2SS ST HON DO SOBOTOLEL
SHPENOID DI IS TraSeT

SRR, Tla (DH20es 50 19830008

S0 SDETE TR0 Hd Doraws’ D
S0y $88 MWoS  aSomd o
©FOD DNHOVOR ?
(1) @08 esldren
@ BozdS
(3 1,3-20er83HS
@ oaoaB ]
12, 2edSe & (808 >8S wosTaAH S
 Sred (SA)S T8 1195 TBio 26 ?
) 8bhoosr
2) TDAS
@) AASDS
{ @ S
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113;..--.:j.:: nsider the following statements
ate Energy Efficiency Index (SEEI) 2023 :

~ Karnataka is the top performing state in
- SEEI 2028 with an overall score of 86'5
~out of 100,
H. Assam and Uttar Pradesh are in the
~ ‘Achiever’ category in SEEI 2023.
“m “Andhra Pradesh is in the ‘Front runner’

% category in SEEI 2023.

Which among the above statements are
correct ?

(1) TandlI
(2) IIand I
(3) IandIII

(4 I 1andII ]

114. ‘Sangam : Digital Twin’, recently seen in the

news, is an initiative of which De;aartment of
Imiza ?

- Department of Telecommunications
~ Western Naval Eemmand

Eastern Naval Command
Department of Science and Technology

-

J

B
@

115. Consider the following statements :

L. Indian Naval ships Cheetah, Guldar and

Magar were decommissioned on 12|

January, 2024. The decommissioning
- event was conducted at Lakshadweep.

. INS Imphal, a Project 15B stealth
guided missile destroyer was
commissioned into the Indian Navy at
an immersion ceremony held at the
Naval Dockyard, Mumbai on December
26, 2023,

Whmh among the above statements is/are

correct ?

(1) Ionly

[ {2) IIonly ]

(3 BothlandIl

(4) None of the above

(48)
regarding | 113, é5 DS HHDD) 2B (SEEI) 20238

(Al

NOVOHOD =
SBKEB80308 : ,_
L ¥ov)& SEEI 20238° 3n&0 1008 e
865 N S8
S80S oo o DD,
SEEI 20238° ‘@d3®  (Achiever)
S0N8S’ ery0 DBk ASSHTT
) 0.

SEEI 202365’ es0|gS( 08 19085 6528
(Front runner) Dzriios = Joln
DPEOSOS D HBSD?

1) IS8T

(2) I 805 I

(3) IS8c%w I
@ 1,1 500 I )

114, adseo S EBODS Voo A2erd
as,;.s' 806 8 arééa-m :a,:w-ﬁo :

o8 (DELSOSD

IL

IIL.

(4) AR wo& By e

é&‘r‘ﬁﬁuoﬁ @D D
115, & (806 (B80S0 HORBOSOA :

oS JTeod Jien D, HS
DOAID B 12 2858, 20248 S
J5d0 o &K);oob'ﬁoﬁea@'w '
O8RS aOJoTER OIS0
QA sarotsadod.

AR08 26, 20238 SHOBSVD IS
@EArES’ 2008 2.8 o580 INS
2o, 2§ 15B S AEs WS
BFHED  r8S  FeEosE

D DELSOS DAY HBSD 2
1) 13D
@ nores - )
3) I08a% IT Bodkr :
@ 3D

L
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116. Wfsich of the following state to
India Para Games 2023 ﬂaé&al'taﬁife 7

(1) Haryana

&]

BS 20AcSr o ) 2028 HSE HYES
& L!‘)o& o8 aﬁﬁ:?éoé‘ &d) oUao

8 ?
() Tamil Nadu g; e mfi‘
(4) arat & '
g 8) . SDEIW
117. In which of the following places were new @) HEoS

medical colleges inaugurated by the Chief
Minister of Andhra Pradesh in Septemher
2023 ?

Elury

Vizianagaram

Machilipatnam

Adoni

<g:E|;;1r<

Seiect the correct answer using thae codes
given below :

I, i1 and 11

What is India’s rank in Logistics Performance
Index out of 139 countries, as per the World
Bank’s Logistics Performance Index (LPD)
Report 2023 ?

(1) 44 (2) 24

I @) o8 I 4) 47

119. Identify the company that launched ‘Pratham’

118.

which is the world’s first no-code computer
vision platform :
(@ AssertAl )
(20 Microsoft Inc
o0 @) Google
" (4) Dell Technologies

‘Which among the following Space agencies
has launched its next generation H3 rocket
into orbit ?
(1) Canadian Space Agency (CSA)
(2) Iranian Space Agency
(38) Israel Space Agency (ISA)
(4) Japan Aerospace Exploration
(JAXA)

Im.

117. VROR 2023S° @ORIHTE Snmsole
& 808 D Pord §& [ FTOD
(EoDodd ?

L. oard

1. duohSido

. HOJohe

V. S0dd&0

V. &8

B8 BS508S FhOD GITrAHOD P

HIPFTR), J0twFod
) LS8k I

(2 11, I SHOckn V

3 LHg

5S

118, (D0 argos TwE <28 HI8%

PO (LPD DS6S 2023 H5°60 139 Brod’

B8 DA JrdES’ rsBio B,

- orgo8 Qo ?
(1) 4;}

(2) 24
_ @ 47
110, — mmggs& éo@‘gé&ﬁ
3@5 FS>ES (no-code computer vision
p!atform) ®oNS  DEDAV  (DBoDODS
: &

3

(4) Dell Technologies

120. & 800 TBS' D ®oS0E doYew S
SHH0 S0 HI TBSH  §5588
D3 DBod ?
(1) BIBHS R co_)n) DB (CSA)

@ BORAS B0 52
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